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Ch. 9 Problems 
 
47. Using flow rate to find the velocity and calculating the absolute pressure 

in the large and small diameters allows us to substitute into Bernoulli’s 
equation and solve for the velocity in the constriction and then the 
diameter of the constriction. Since the height of the constriction is the 
same as the large diameter we only have pressure and velocity so deal 
with. 
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80. a. 
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b. Considering the left tube A and the right tube B let’s look at the air  
above the tubes. 
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 Now, let’s look at the fluids in the left and right tubes using the air 
pressure above the tubes that we just solved for. 
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Ch. 10 Conceptual Questions 
 
4. This is good advice. The coolant is pressurized which allows the coolant to 

remain in the liquid phase well above the boiling point of water. Opening 
the radiator cap could result in explosive release of this pressure and 
boiling of the coolant. This would splash all over and cause severe burns 
to anyone standing nearby.  


